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General instructions

. Please read the given instructions carefully and adhere to them.

. All the questions are compulsory.

. This paper contains 30 questions.

. This question paper has been divided into four sections - section A,B,C and section D.

. Section A contains 15 objective questions and each question carries one mark each.

. Section B contains question 16 to question 21 and each question carries 2 marks each.
. Section C contains question 22 to 27 and each question carries 3 marks each.

. Section D contains question 28 to 30 and each question carries 5 marks each.

9. Section B and C has two questions each of internal choice. Attempt any one.

10. Section D carries three question each with an internal choice . You can attempt any question
of your choice.
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Q 1. Which of the following is not a principle of meal planning—
a. Use of the left over food material

b. Saves time and energy

c. Provides gratification

d. Saves fuel
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Which of the following standardization mark is a guarantee of good quality agricultural product
a FPO

b. Agmark

c. Ecomark

d. Hallmark
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Question 3 which of the following germ leads to spoilage of food
a. Staphylococci
b. Female anopheles
c. Female aedis egypti
d. Platinum
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Which of the following income refers to the happiness and satisfaction received by the use of
any product or services

Real income

Monetary income

Indirect income

Psychic income
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Children tend to learn many good habits by-
a. Getting angry on them
b. Following others



c. Entertainment
d. All of the above
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A person tends to become most conscious of his or her physical appearance in which of the
following stage

a. Adolescence

b. Infancy

c . early childhood

d. late childhood
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is one such resource which is equally available to every person on this planet.
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Work involving heavy labour are and
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What is the ratio of carbohydrates, protein and fat in a balanced diet
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Which mark is considered a guarantee of good quality wool?
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Which emotion is dominant in a 3 to 5 year old child?
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Question 13
Assertion (A) : work simplification is very useful for ladies
Reason ( R) : work simplification helps in saving money , energy and time .
a. Both assertion( A) and reason ( R) are correct and the reason is the correct explanation
of the assertion
b. Both assertion( A) and reason( R) are correct but the reason is not the correct
explanation of the assertion
c. Assertion( A) is correct but the reason( R) is incorrect
d. Assertion( A) is incorrect but the reason( R) is correct
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Assertion (A) : Adolescence is also considered as period of storm and stress.
Reason ( R)) : stress during adolescence mostly arises from physical , emotional and social
changes in the adolescent.
a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion
b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion
c. Assertion ( A) is correct but the reason(R) is incorrect
d. Assertion (A) is incorrect but the reason ( R ) is correct.
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Assertion (A) : meeting though is a work which is included in medium labour category




Reason ( R) : Any task that requires an additional energy expenditure of 24% per person in an
hour can be labelled as medium labour work.
a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion
b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion
c. Assertion ( A) is correct but the reason(R) is incorrect
d. Assertion (A) is incorrect but the reason ( R ) is correct.
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Q 16. Mention one effective way of teaching the correct social behaviour to a child in early
childhood stage.
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Why should we not cook food in brass and copper utensils?
OR
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Why is it harmful to cough or sneeze over food items?
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Explain the advantages of energy management in everyday life.
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Sarita is a nursery school teacher she wants to teach children about various surfaces what
teaching method should she use in her class?
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Name any four stain absorbants.
OR
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Which method should be used while washing a silk saree?
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Cite any two examples from your everyday routine when you find yourself mentally fatigued and
exhausted.
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How can one obtain a balanced and nutritious diet even with limited funds or income?
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Comment on FSSAL.
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Which two food products are commonly adulterated with metanil yellow. How is metanil yellow
harmful to our health?
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What points would you keep in mind while storing silk and brocade clothes?
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What precautions would you keep in mind when removing stains from your clothes?
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Which germs are likely to be present in boils and pimples and what diseases are we likely to get
infected with if a person with boils and pimples in hands cooks our meal?
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Define fatigue and its types citing appropriate examples
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Enumerate various emotions of an adolescent and explain any three in detail.
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Compare the different levels of a food pyramid.

OR
GIET 3T TISToAT HT 3662 TASSU

Explain the objectives of food group table
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What do you understand by the term adulteration. Elaborate upon any four disadvantages that a
consumer is put to when he gets an adulterated product.

OR
"IRER & HEGEAT T THE -ATIHE T ITER MU T TS ISl & "SH HUeT T e urer faffesr
3ETE0T ol ST |
Food choices of the members of a family affect the meal planning done for the same family
elaborate upon the statement citing five different examples.
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How can we categorise stains?
OR
g e gele T ve fafery &1 aoter Y|

Describe in detail various methods used for removing stains.



